
Comprehension questions 

Who is Raju?

A.	Raju is a doctor.	  B. Raju is a patient.	 A | B

True or false 1:

1.	 Raju needs to cough into a pot. 	 T | F

2.	 Raju doesn’t need to go to the hospital.	T | F

True or false 2:

1.	 Raju can make other people ill.	 T | F

2.	 He’s got the flu. 	 T | F

3.	 The medicine costs £17. 	 T | F

4. 	He needs to take his medicine  
for at least 6 months. 	 T | F

5.	 He can go back to work tomorrow.	 T | F

True or false 3:

1.	 People sometimes have a chest x-ray  
to see if they have TB. 	 T | F

2.	 The ‘mantoux’ test is a skin test.	 T | F 

3.	 People can be infected with TB  
and have NO symptoms.	 T | F

4.	 Only lung TB is infectious. 	 T | F

5.	 Raju’s family had TB, too.	 T | F

Please circle your answers below. 

For example;	 T | F

Put the story in the correct order:

Number the boxes below from 1-9.

a. Cough into a pot

b. Have an x-ray

c. Stop taking the medicine

d. x-ray/skin test for family members

e. Have a hospital appointment

f. Go back to work

g. Stay at home for 2 weeks

h. Start taking medicine

i. Go back to the hospital


